
Konc. extrakt

Varianta Opakování Navážka A662 A644 chl a chl b
g mg/l mg/l

Kontrola 1 0.201 0.226 0.078

2 0.24 0.655 0.246

3 0.22 0.313 0.113

průměr

bez N 1 0.199 0.456 0.163

2 0.208 0.249 0.107

3 0.222 0.309 0.108

průměr

bez P 1 (2x ředěno) 0.202 0.507 0.218

2 (2x ředěno) 0.237 0.547 0.206

3 0.215 0.504 0.183

průměr

bez Fe 1 0.405 0.383 0.136

2 0.41 0.014 0.008

3 0.4 0.149 0.0612

průměr



Obsah v listu Vzorce pro výpočet koncentrace:

chl a chl b chl a: chl b chlorofyl a  =   9,784×A662 - 0,990×A644     [mg.l-1]
mg/g mg/g chlorofyl b  = 21,426×A644 - 4,650×A662     [mg.l-1]



chlorofyl a  =   9,784×A662 - 0,990×A644     [mg.l-1]
chlorofyl b  = 21,426×A644 - 4,650×A662     [mg.l-1]


